[3/30/2019, 8:59 AM] Med Ahmed: The mouth of the vernier caliper should closed to check for 

A. Error 

B. Balance

C. Zero error

D. Calibration

Ans: C

[3/30/2019, 9:42 AM] Alfa Ibrahim Med: In a simple pendulum, which if the following is true

A. At y=0, there's maximum velocity and minimum energy

B. Y=0 maximum velocity and maximum acceleration

C. Y=0 maximum velocity and k.e maximum energy

D.minimum velocity and maximum acceleration

[3/30/2019, 9:42 AM] Alfa Ibrahim Med: Ans. C

[3/30/2019, 5:42 PM] Med Abdulwahab: The vernier scale in the vernier caliper has how many divisions?

A. 5

B. 10

C. 9

D. 8

Answer: B

[3/30/2019, 5:43 PM] Med White Lion: What the ratio of the main scale to Vernier scale

Ans: 1 - 10

[3/30/2019, 5:50 PM] Alfa Abdussalam Anat: The metre rule has s reading accuracy of?

[3/30/2019, 5:51 PM] Alfa Abdussalam Anat: A- 0.1cm

[3/30/2019, 5:52 PM] Alfa Abdussalam Anat: B-0.001cm

[3/30/2019, 5:52 PM] Alfa Abdussalam Anat: C-0.5cm

[3/30/2019, 5:53 PM] Alfa Abdussalam Anat: D-0.05cm

[3/30/2019, 5:54 PM] Alfa Abdussalam Anat: The diameter of a thin wire can be measured with?

[3/30/2019, 5:55 PM] Alfa Abdussalam Anat: A-vernier caliper

[3/30/2019, 5:55 PM] Alfa Abdussalam Anat: B-micrometer screwgauge

[3/30/2019, 5:56 PM] Alfa Abdussalam Anat: C-vernier microscope

[3/30/2019, 5:56 PM] Alfa Abdussalam Anat: D-none of the above

[3/30/2019, 6:07 PM] Alfa Abdussalam Anat: Increase in viscous force causes?

[3/30/2019, 6:08 PM] Alfa Abdussalam Anat: A-increases velocity

[3/30/2019, 6:08 PM] Alfa Abdussalam Anat: B-decreases velocity

[3/30/2019, 6:08 PM] Alfa Abdussalam Anat: C-remains constant

[3/30/2019, 6:09 PM] Alfa Abdussalam Anat: D-none of the above

[3/30/2019, 6:10 PM] Alfa Abdussalam Anat: Increase in temperature will?

[3/30/2019, 6:11 PM] Alfa Abdussalam Anat: A-increases surface tension

[3/30/2019, 6:11 PM] Alfa Abdussalam Anat: B-decreases surface tension

[3/30/2019, 6:11 PM] Alfa Abdussalam Anat: C- have no effect

[3/30/2019, 6:12 PM] Alfa Abdussalam Anat: D- all  of the above

[3/30/2019, 6:14 PM] Alfa Abdussalam Anat: Internal friction in liquid is called?

[3/30/2019, 6:15 PM] Alfa Abdussalam Anat: A-Surface tension

[3/30/2019, 6:16 PM] Alfa Abdussalam Anat: B-amalagation

[3/30/2019, 6:16 PM] Alfa Abdussalam Anat: C-viscosity

[3/30/2019, 6:16 PM] Alfa Abdussalam Anat: D-all of the above

[3/30/2019, 6:21 PM] Alfa Abdussalam Anat: According to hookes law the force applied is directly proportional to?

[3/30/2019, 6:22 PM] Med Ahmed: 0
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I. The potential energy is greatest at K

II. The kinetic energy is greatest at K

III. L & J are the maximum displacements

IV. The velocity is 0 at J 

A. I only 

B. II and III 

C. II, III & IV 

D. IV only

Ans: C

[3/30/2019, 6:24 PM] Alfa Abdussalam Anat: A-density

B-elasticity

C-stiffness

D- none of the above

[3/30/2019, 6:25 PM] Alfa Abdussalam Anat: K is called?

A-string constant

B-spring constant

C-stiffness

D-all of the above

[3/30/2019, 6:29 PM] Alfa Abdussalam Anat: Diameter of a metallic ball is measured using?

A-vernier caliper

B-micrometer screwgauge

C-travelling microscope

D-none of the above

[3/30/2019, 6:34 PM] Alfa Abdussalam Anat: Measurements of period in simple pendulum is in relation with?

A-fixed length 

B-variation in length

C-all of the above

D-NONE of the above

[3/30/2019, 6:37 PM] Alfa Abdussalam Anat: T=2π✓l/g,what is the slope?

[3/30/2019, 6:41 PM] Alfa Abdussalam Anat: Equation of a straight line is?

A-y=mx+c

B-y=mx

C all of the above

D none of the above

[3/30/2019, 6:44 PM] Alfa Abdussalam Anat: A graph having y=mx means?

A-it has intercept on y axis

B-y is proportional to x

C-y is directly proportional to x

D- none of the above

[3/30/2019, 6:44 PM] Med Ahmed: PHY 191

The mouth of the vernier caliper should closed to check for 

A. Error 

B. Balance

C. Zero error

D. Calibration

Ans: C

[3/30/2019, 7:47 PM] Alfa Ibrahim Med: The force constant for a spring is called 

A. String constant

B. Spring constant

C. Young modulus 

Ans. B

[3/30/2019, 7:48 PM] Alfa Ibrahim Med: A rolling body has 

A. K.e

B. K.e and vibrational energy

C. K.e and rotational energy

D. ....

[3/30/2019, 7:56 PM] Alfa Ibrahim Med: The main aim of viscosity experiment is 

A. To determine terminal velocity

B. To determine viscosity constant

C. To determine speed of falling body

D.

Ans. B
